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TUS-31 (SECTION-A)

agﬁar«qﬁ'ar U9 (i @ xv) [Multiple Choice Questions (i to xv)] :

(1)

(ir)

(i)

(iv)

V)

/1 # @ i T "R en-wi fafEm (feiem) e @ wwfaa 78 272 [1]

(37) TRRRI Y gSit R ST (o) WS T < ST

(W) IEe’ & %O W S (3) HIHER o S0 WA

Which one of the following items is not related to Profit and Loss Appropriation A/c?
(A) Interest on Partners Capital (B) Salary Payable to a Partner

(C) Interest on Partners Loan (Debt) (D) Interest on Partners Drawings

Giten iR gA weh wH § 5/8 : 3/8 § onH-qI wied g8 WEieR €, 9 1/8 fTe & forg

Y] o1 Tow =t ¥, T8 o S W SReR S W WS Shl © | T ST STuTd g —
[1]

(31) 5 :3 (") 1 :1 (|)3:5 (T) 3 :1

Sangeeta and Suman are partners in a firm sharing Profit and Losses in the ratio of

5/8 : 3/8. They admit Anshu for 1/8 share in profits, which he receives from both of

them in equal proportion. The sacrifice ratio will be :

(A)5:3 B)1:1 C€)3:5 (D)

aren, gl ofR wifan ok wd A 278, 172 aﬁm/sﬁwawrraa“rg%ﬂ@m%l@ﬁmwﬁ
U ST TV HAl T, ST (FRR) N STIUR FAT TI? [1]
(31) 2 1 (&) 1:2 (@) 1:3 (¥) 2:3

Asha, Sumitra and Sonia are partners in a firm sharing profit in the ratio of 2/8, 1/2
and 3/8. Sonia retires from the firm. What will be the Gaining ratio?

A2:1 B)1:2 O)1:3 D)2:3

SIfens (WER) S STIUTT I TUAT TSI F— [1]
(31) HEER & Teg T () HIPRR F Foa W

(¥) FRER &t Fag W) (=) (1) 7 (F) =<

The Gaining ratio is calculated :

(A) On Death of a partner (B) On Admission of a partner

(C) On Retirement of a partner (D) Both (A) and (C)

% GEA (foed) W hiEn @i el e s g7 [1]
(1) gt @ () S @ (9) T @l (T) WRER % gsi
Which account is not opened on dissolution of the firm?

(A) Realisation Account (B) Bank Account

(C) Revaluation Account (D) Partners Capital Account
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A (W-T21) Steied fefefed & amet | o] e 83— [1]
(31) stfy-effem (F) A oifvem () =[ oifgm (7)) ww-sifvee

Pro-rata allotment applies in the case of :

(A) Over-subscription (B) Minimum-subscription
(C) Under-subscription (D) Equal-subscription

(vii) EsTra fafies 3 9 fafies @ w w9 ¥ 1,98,000 ® Wliar | 58k 01 7Ta= |
T 100 =TSt @A 379 10 gfava wifhaw w Frifaa e, o7 &t e sm— [1]
(37) 1980 79 (&) 2200 9 (¥) 2000 391 (¥) 1800 W

Sanjeev Limited purchased a machinery from Bhanu Limited for ¥ 1,98,000. Its full
payment is done by issuing equity share of I 100 each, issued at a premium of 10%.
The number of shares will be :

(A) 1980 shares (B) 2200 shares (C) 2000 shares (D) 1800 shares

(vill) T F T WA TR §— [1]
(31) T &t (9) EifswR s (W) as@ (Fam) () (1) 7 () qAt
The word used in place of Debenture is :
(A) Equity share (B) Preference share
(C) Bonds (D) Both (A) and (B)

(ix) TH-9od R SR HOaE k1 Wfgem e (qem) e s §, @ 39 Afm w5 afe
w1 gEARG fehen Siar 8— [1]
(31) HoraEl & i W aee wa # (&) oraEt % fte R wrf Ta #§
(9) wm 9 @ o () wfayfa Hifem == @ o

(x)

Debentures issued at par are redeemable at premium, the amount of premium payable
is transferred—

(A) In discount on issue of debentures A/c (B) In Loss on issue of debentures A/c
(C) In General Reserve A/c (D) In securities premium Reserve A/c
g fafges = fieerer fafies @ T 1,80,000 H Tk w9 WRi<T, TS qof 7™ &
et T 100 1A 9% BT 10% 92 W IR forg | ot & fiaa W sea wa |
foramt wfr 9 (Sfae) =t s [1]
(31) T 19,000 (&) T 20,000 (") T 28,000 (g) T 22,000
Suratgarh Limited purchased a machinery from Bhilwara Limited for ¥ 1,80,000 and
in licu of full payment, issued ¥ 100; 9% debentures at 10% discount. How much
amount will be debited to the discount account on the issue of debentures?

(A) T 19,000 (B) T 20,000 (C) T 28,000 (D) T 22,000
(xi) & =, forem 12 78 % ofiR frem fn < B, weemd §— [1]
(31) =re] wwafaar (¥) wfia-= S
(®) R-=e It () = St
Those liabilities which are settled within 12 months, are called—
(A) Current Assets (B) Deferred Tax Liability
(C) Non-current Liabilitics (D) Current Liabilitics
(xii) T ST F0T-THAT STIATd TR T STl §— [1]
(1) 1 :1 () 2 21 (") 05 : 1 (®)1:2
An ideal debt-Equity ratio is considered safe—
(A)1:1 B)2:1 (€)0.5:1 D) 1:2
(xiii) Fre=ferfaa & @ wfen T Usks-vare faexer w1 frarpem & 82 [1]
(31) Y JaE (¥1) uf=mer (T) foit= (3) e

Which one of the following is not a cash-flow statement Activity?
(A) Funds-flow (B) Operating (C) Financing (D) Investing
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(xiv) 7o fafiee =t f gea §-
=

1.4.2023 31.3.2024

FUYUA * Qg T 10,000 T 15,000
<] o o JRE U % T T 12,000 1 g fowar w4
i frarram & afgats it af¥n gm— [1]
(31) ¥ 10,000 (a1) T 15,000 (w) ¥ 7,000 (g) T 17,000
Following informations is of Pawan Limited—

Items 1.4.2023 31.3.2024
Provision for Taxations < 10,000 < 15,000

During the year provision for Taxation is made of ¥ 12,000. The amount of cash out
flow from operating Activities will be—
(A)X 10,000 (B)X 15,000 (©)X 7,000 (D)X 17,000

(xv) =1 & § e T 7% TR 1S §7 [1]
(371) TEaEd Tohg () Sop o (9) 7o B (7) formom =i wfayfa
Which one of the following item is non-cash item?

(A) Cash in hand (B) Bank depos1t (C) Depreciation (D) Marketable securities
2. o wml &t ‘{ﬁ ITT (i @ vii) [Fill in the blanks (i to vii)] :

() Sfad el qen T=El B G WEERE F IS WA H e, eTgaa H faafta feren
S 1 (/) [1]
Accumulated Profits and Reserves are distributed among old partners capital account

................... ratio. (sacrifice/old)

(ﬁ)wmmwﬁmm%mwﬁww ............... =
STIITT FEAT 8 | (SATeens (BER)/A) [1]
The ratio in which the continuing partners will acquire the share from the retiring
partner is called .................... ratio. (Gaining/New)

(ili) et ST HE H TG GO T q srferep 6l €1 WRdt ® | (5 RE/50 TRE)
[1]

One person company’s paid up Capital can not be more than ¥ ...
(5 Lakh/50 Lakh)

(iv) TH T oo, T A9 A gL W T w7 | (IR (W)
[1]

A company can iSSue ................. equity shares at discount. (General/Sweat)
102 N HOIH, 3 HOTqa ¥, W e (feefiedt) % g ewaaiia fRy o TR ¥ |
(&SI [1]

..................... debentures, are the debentures which can be transferred by way of
delivery. (Bearer/Registered)

(vi) W e vt 3U-3itieh [1]
gfaygfa wifem s=@ o 9 oAty
(=] =rfarce/stearemt w i)
Item Major-Head Sub-Head
Securities premium Reserve — ................. Res. and surplus
(Current Liabilities/Shareholder’s fund)
(vil) M FoAT ST, 2013 B oo, % STHER goH-TF 91 W R
(ST VI/TTG=-11D) [1]

According to Indian Companies Act, 2013, Balance-Sheet is prepare as per .................
(Schedule-V1/Schedule-IIT)
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3. aﬁm LT (1 x) [Very Short Answer Type Questions (i to x)] :

(1)

(ir)

(i)

(iv)

V)

(vi)

(vii)

(viii)

(ix)

(x)

R % " fefed aHEian see 87 [1]
A written agreements between partners, is called?

oY A TS T wH H 3 ;2 H W died g WRRR | S 9 w1 ol ¥ e & fo
Ha9 34 ¥, o ofasy H el 12 22 2 1 H sed @ v o ¥, @ @ S| 9|
whifsT | [1]
Bhavesh and Raju are partners in a firm sharing profit in the ratio of 3 ; 2. They admit
to Sonu for share in profits. They decided to divide the future profits in 2 : 2 : 1 ratio.

Calculate the sacrifice ratio.
T, O AR SIS 2 : 3 ¢ 4 T oy died gT WIESR §, 9IS HH W ST T Il ¢ |
TR R FIH T 81,000 ¥ | Si€ A1 GAYeART it w1 B fewwm 9@ wifswy (1]
X, Y and Z are partners sharing profit in the ratio of 2 : 3 : 4. Z retires from the firm.
Loss on revaluation is ¥ 81,000. Calculate the Z’s share in loss on revaluation.
g@wﬁmﬁwﬁ,wﬁﬁ@wwﬁwﬁmwﬁﬁﬁﬁamw
? 1
In case of death of a partner, the General Reserve existing in books is distributed,[ir]l
which ratio?

wifq fafres 7 T 10 @ 10,000 THar 37w T 1 wiq 1w Wiffem w smass o= s
w1 T 4 fa ofwr At X 9 eToRT Wt e A T 45,600 YT B3 | UTK STORAT Rl HEA
AT | [1]
Preeti limited had invited application for ¥ 10,000 equity share of I 10 ecach at a
premium of ¥ 1 each. Total application money received at I 4 per share of ¥ 45,600.

State the numbers of application that are received.

9% 12,000 3797 o STEREHT T FATIE (W-TT) STER W 8,000 379 Teifeq forg T,
o sTorar 3 1,500 si9n o fow emesa forw, 3@ fopam sfw smeifeq forg 7112 [1]
If applicants for 12,000 shares were allotted 8,000 shares on pro-rata basis, how many
share were allotted to a shareholder who had applied for 1,500 shares?

STaf4/3MYA % gfeeh!vl § FHordsl & YR I3y | [1]
State the types of debentures on the basis of period/redemption.
faes =t w] T&A-¥H EERNILED [1]
B ? 7
Item in Balance-Sheet Major-Head Sub-Head
Debentures ? ?
FOTTE & goMiyde wiafa & w9 § frie @i feafa 8, afs gfafe = st &, @ S
@ shfee (sn) fwan smm? [1]

In the case of issue of debentures as collateral securities, if entry is passed, which
account will be credited?
foefta-faawon & f&=T 1 sT=mTRd & W fafa | [1]
Write the name of any two users of Financial-Statements.
Qus-o (SECTION-B)
o (915 T 50 9155 ) Short Answer Type Questions (Word Limit 50) :

T Hh
4. T9UF FH H UERR T, B A Yo 918 % a1t 54 T 5,000 T A0 w4 § | <A 12%
SR X W oGS TohaT S 7, STEX01 TR SATST i I T 0T hiforg | 2]

Ranu is a partner in a firm. She withdrew I 5,000 on the last day of every month. The
interest is charged @ 12% per annum. Calculate the interest on drawings.
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5.

10.

11.

12.

13.

14.

o wH | a9t T 4,00,000 ¥, o9 Y WEHR W 10% ¥ | wH % Sited oy 50,000
(Z 5,000 TG BT I LT =TT ) %lﬁﬂmﬂ%?ﬁ?ﬂ%%ww%rﬁrﬁaﬁ
hITST | 2]

Invested capital is I 4,00,000 in a firm. Normal rate of profit is 10% Average profit of the
firm are I 50,000 (Abnormal loss of ¥ 5,000 is not deducted). Calculate the value of
goodwill at three times of the super profit.

SR weprer AW T 35,000 SR T 25,000 I IS F WEGER ¥, S wH F ondi
1/3%@%wawﬁﬁm%mﬁmﬁmlwaﬁ%@fﬁﬁﬁ? 35,000 T ¥,
T hi AT T AT F B | 2]
Kailash and Prakash are partners with capital of ¥ 35,000 and ¥ 25,000 respectively. They
admitted Ram as a new partner with 1/3rd share in firm’s profit. Ram brings I 35,000 as
his share of capital. Calculate the value of firm’s goodwill.

TR (SIHE) ¥ AU H GH FAT T, TEHT MU el hi S T2 2]
What is the formula of Gaining ratio, when is it calculated?

ST, foia SR oY R FH H 2 ¢ 3 ¢ 4§ 9 S gU GENR § | gory W & srew
T8 Tl §, 39 fafer B ger-1m (anfoier- ferzan) T 27,000 =1 WA 99 <91 W@ ¢ | gHIg
% STIHIY YT W SEATIF S wfafse ISy | [2]
Balmukund, Vineet and Sudhansu are partners in a firm, Sharing profits in the ratio of
2 : 3 : 4. Sudhansu retires from the firm. On this date, Balance-Sheet is showing General
Reserve of ¥ 27,000. Pass necessary Journal Entry on retirement of Sudhansu.

e, g SR e U EH H 3 13 2 H ol Sied g SRR §, e wH Y ST TE
%‘Hmw&rww? 56000WMW|ﬁﬁWﬁMW@W@ﬁW
gfafe el [2]
Shiv, Nandu and Mohan are partners in a firm sharing profits in the ratio of 3 : 3 : 2. Shiv
retires from the firm and the goodwill is valued at ¥ 56,000. Give adjustment entry in the
books of firm without opening the goodwill Account.

wH % g (faee) & a9, & R-sifufafaa (qeaent § 9 <o) <ifae T 10,000 =
A T GEieR 511 fRa 719 | STrayaeh et gfafte gt shifeg | 2]
At the time of dissolution of the firm, unrecorded liability of ¥ 10,000 is paid by a partner.
Record the necessary Journal Entry.

“ arfy-srfugm"! iR =E-stfasm ! Bt dftfyg s 2]
Define “Over-Subscription” and “Under-Subscription”.

T HE F 1 STUA, 2023 I T 100 A 5,000; 8% T, 10 Ffaw see R Fifaa fwyl
wiayfa Wifeam T== @[ & 99 T 45,000 § 1 HO9ET R (R W a2 w i srafate we
t STEvI Fiafe e [2]
On 1st April, 2023 a company issued 5,000; 8% debentures of a ¥ 100 cach at a discount
of 10%. The balance of securities premium Reserve is T 43 ,000. Give necessary entry for
writting-off the amount of discount on issues of debentures.

e fafaes 3 Mure fafies & T 2,00,000 # T wiie TSI | Fa FAweT St I ohi
TEHra & Tede @ T 10,000 1 Sk STR) fomer T qen 9w SR i o ferw T 100 wiq sworas
T 9% BT 5% de W R fRu MU | St foRy T SHoras okt Eeen 9 it | 2]
Madhusudan Limited purchased a plant from Gopal Limited for ¥ 2,00,000 and agreed
to make the payment of purchase consideration by issuing cheque of ¥ 10,000 and
for remaining due payment by issuing 9% debentures of ¥ 100 each at a discount of
5%. Calculate the number of debenture that were issued.

<o) gt qen =g Sifae’! o god 9 wifse, afs- 2]
whY (Eﬁl’&ﬂ) T 60,000
e Fe T T 2,40,000

LT ST =2:1
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Calculate the value of “Current Assets” and “Current Liabilities”. If—

Stock (Inventory) T 60,000

Liquid Assets < 2,40,000

Quick Ratio =2:1

eyt feafaee 3 afmmafael W 26,000 T GeI-519 TG (M) A o 999 3 74,000
1 e S foRa | 2]
34 g,

SR A femar T 20,000
qfErer forenetl 511 Ushg-TaTe St IO ShiToT |
Yuvraj Limited made a net profit I 74,000 after charging the depreciation of ¥ 26,000 on
Assets
Other informations :
Income Tax paid I 20,000
Calculate the cash flow form operating activities.
WUus-H (SECTION-C)

el 3T 99 (9162 WHT 100 9162 ) Long Answer Type Questions : (Word Limit-100)

16.

17.

1 SR e W WERR €, 5! feer gt shmen: T 3,00,000 R T 4,00,000 ot | =g g
TR TS I AIH-FI ST W LR GG TF 7 SR 9 A YE A9 I 55,000 ¥, A 19—
711 faf=m (fasm) @ s [3]
Nanda and Bhanwar are partners in a firm. Their fixed capitals were I 3,00,000 and
% 4,00,000 respectively. If the partnership deed is silent as to the payment of interest on
capital and profit and losses sharing ratio’s, and net profit for the year 1s ¥ 55,000, prepare
Profit and Loss Appropriation Account.

AYAT/OR
fors ST heel Tk ®H W 2 ;3 H oy died §Y USSR ¥, SRl TEeR ISt wAw: T 2,40,000
# T 2,60,000 ¢t 1 31 A, 2024 B Tk o< HE F TG T TR STRN G W 10%
R XY ST ST T T | FHETST gfafe st shifs | [3]
Vinod and Komal are partners in a firm, sharing profits in the ratio of 2 : 3. Their fixed
capitals were I 2,40,000 and ¥ 2.60,000 respectively. On 315t March, 2024, after closing
the books it was found that Interest on Capital @ 10% per annum was omitted. Record the
Adjustment Entry.
T % foed W SHe wiatedl s, afa- 3]
(i) Tw T-erfufafaa T 5,000 1 TEWEX, TH FESR TO9 g feran |
(i) TR T 25,000 F &, IFIA T Yot 7= | T 25,000 % God T IASRI Bl WHHR |
(iii) SrggeTt =F T 25,000 T
Pass Journal Entries on the dissolution of a firm, if
(1) Unrecorded Typewriter of I 5,000 is taken by a partner Ganesh.
(i) Creditors were ¥ 25,000, they Accepted Debtors valued at ¥ 25,000 in full settlement

of their claim.

(i) Realisation expense amounted to ¥ 25,000.

AYAT/OR

T (1) w g () % @y e wifse— [3]
Tt (o1)—Fearfy g () % fomes =t dfear
(i) T TR w wEEla W (a) oifvTame wETaH
(ii) ?WﬁWWﬁT—W (e1a9) | (b) =A™ g1 faseq
Sl
(i) 9 HTE TSR AAGH Gqeq @ 1| (c) THAN g1 faere
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18.

19.

Match the List (A) with List (B)—

List (A)—Conditions List (B)y—Methods of
Dissolution of a firm

() With the consent of the all partners | (a) Compulsory Dissolution

(i) When the business of the firm (b) Dissolution by Court

becomes illegal.
(1) When a partner becomes insance (c) Dissolution by Agreement
Frafafaa gemet @ fasra’’ 3 ' 'wwe @'’ =t aftr I wife— [3]
TRY ST ST =6 T
Arad why =3 80,000

ok gour, @Ta 9o 9 25% Sifek 7|

Calculate the amount of “Sales” and “Gross Profit” from the following informations—

Stock Turnover Ratio = 6 times
Average Stock =3 80,000
Selling Price is 25% excess on cost.
AYAT/OR

= (7)) =1 g (9) & Wy fheae wifse— [3]

Tl (31)—cT@ih ST e (=) —a/ gt
(1) e AI9a (a) TTYRESR T
(i) AT STERYT STUTT (b) TEA &HAT ST
(iii) IR STgA (c) Tl AU
Match the List (A) with List (B)—

List (A)—Accounting Ratio List (B)—Category
() Current Ratio (a) Profitability Ratio
(i) Interest Coverage Ratio (b) Solvency Ratio
(i) Operating Ratio (c¢) Liquidity Ratio
frfafaa gammsti & saR W ' foxta- et @ Uhs-vamg it UMl Shifse— [3]
i . 2023 2024
TEAT ST S T 6,00,000 T 7,550,000
8% ROTIA T 1,00,000 T 50,000
<Te] o o SR T ST o R 99 T 20 T SEien o RO o Ri 9 W s
EZRUGIERER IRl
Calculate the cash flow from “Financing-Activities” from the following informations—
Item 2023 2024
Equity Share Capital T 6,00,000 < 7.50,000
8% Debentures < 1,00,000 < 50,000

During the year 20% dividend is paid on opening balance of Equity shares and interest is
paid on opening balance of debentures.

AYA/OR
T (1) w g () % @y e wifse— [3]
T (37)—=ATER et (o) —TeRareRetT s ¥R
(i) TTEF T A o= (a) T wfafafa
(i) =TS qAr WY ¥ Wha (b) TR Tfafary
(iii) EOTTET T T (c) fafram wfafafy




wia g
Match the List (A) with List (B)—

List (A)—Transactions List (B)—Types of Activity
(1) Sale of goods to customer (a) Financing Activity
(i) Receipts from interest and dividend | (b) Operating Activity
(1) Redemption of debentures (c) Investing Activity

@UE-< (SECTION-D)

TererareR 99 (9162 WiT-200 9162 ) : Essay Type Questions (Word Limit-200) :

TSR SR To9T Tk ®H | 3 ¢ 5 | oNw-81i sied g PR €, 31 |IY, 2023 1 SR -

77 (snfdw-fager) f a— [4]
KR T | uRwwmtEr z
TTRR 4,00,000 | =% 3,60,000
rE= 9= 3,00,000 | IR 460,000
ISt @ (-) 3o =9 % fag
SAfeAT—5,00,000 PIECIE 20,000
HT9I—4,00,000 9,00,000 4,40,000

e 8,00,000
16,00,000 16,00,000
T I :

I 1 o7, 2023 w1 g’ B e vl o wy @l # 173 e o g wewr %9 ¥

() e o1 feed w1 gt 9 wfa % forw ggo &9 9 T 4,80,000 Aehg @M€ ¢ |

(i) " I T A godie SAfuend T 1,20,000 % KT I h A o ISR fRAT TR |

" FEeRT gt Er! SR |

Avinash and Bhavesh are partners in a firm, sharing profits in the ratio of 3 : 3, their

Balance-Sheet as at 31t March, 2023 was as follows—
Balance-Sheet

Liabilities 3 Assets %

Creditors 4,00,000 Bank 3,60,000

General Reserve 3,00,000 Debtors 4,60,000

Capital A/c’s : (=) Provision

Avinash— 5,00,000 for bad debts 20.000 4.40,000

Bhavesh—4.00,000 9,00,000 Plant 8,00,000
16,00,000 16,00,000

Other informations :

On 1% April, 2023 they admitted “Rahul” as new partner for 1/3' share in profit on the

following terms—

(1) Rahul will bring cash of ¥ 4,80,000 for his share of capital and goodwill Jointly.

(i) Goodwill of the firm has been valued at 2 years purchase of the super profit of
< 1,20,000

Prepare “Partners Capital Account™?
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21.

22.

AYAT/OR
T HEER F To¥ Re— [4]
et o SPr 3 TeeR & e e st
() ufawfa & 9o ¥ gfg o1 W
(i) Ifoe % gedt § T W
(i) T srfuferiaa st & forg
(iv) R stfufafeq afmmfe & fag
(v) GTHeRA W I Rl el @il H R % forg
Give Journal Entries related to “Revaluation of Assets and Liabilities”, at the time of admission
of a new partner—
() For increase in the value of an asset
(i) For reduction in the value of liabilities
(1) For unrecorded liabilities
(iv) For unrecorded Assets
(v) For transferring the loss on revaluation in partners Capital Account.

TTrett fafaes 7 ¥ 10 =t 10,000 THaT ST * faw 10% Wfgem W emasa 3q wfoeron St

fepn, Tferal 59 YR 37 oft [4]
AT T T3

T T % 6 (Hifem wfed)

e & SA<H | W )

9,000 313l & foru eferee T Wi g fireh T 400 stwr sifeq fopa, = wf¥n =t sieq & @ie
O R Tean | el fafiee #) qwal # stavas S gt Sty (SFee steed |
e o fom)—

Rangoli Limited issued prospectus inviting applications for 10,000 Equity Share of ¥ 10 at
10% premium, amounts payable are as follows—

On Application T 3
On Allotment % 6 (Including premium)
On first and final call 3 2

Application were received for ¥ 9,000 Shares. Priyvanka, who was allotted 400 shares paid
call money with allotment. Pass necessary Journal Entries in the books of Rangoli Limited.
(Only for Application and Allotment).
AYAT/OR

feman fetfies 3 500 wwan @ T 100 Wi ofw ot w1 2o foman, st W T 90 wia sfwr =i
T o1 S A W T 40 Wi Sfw wuw o iy Wi % ek 9, w4 3 T 70 Wi oW
qui-vee W A Frifia w53 | e s gl W streyes wHet wiatear it qen ¢ ot
T Erar’! SR (4]
Smita Limited forfeited 500 equity shares of ¥ 100 each on which ¥ 90 per share was
called-up. There was a arrear of ¥ 40 cach of first and final call on these shares. Company

re-issued these shares at ¥ 70 per share as fully paid-up. Give necessary Journal Entries in
the books of company and prepare “Share Forfeiture A/c”.

TR fafaee =t gl o f it sawae wfaftedr < wifse— [4]
() T 100 ¥ F 1,200; 9% o gHed R Frifad e 20% Hfaas w= wieE )
(i) T 1,000 T&F 150; 8% HOTA 10% w2z R fwifad wa 5% wifem o sera 71

Record the necessary Journal Entries in the books of Rajveer Limited for the following—
(1) 1,200; 9% Debentures of ¥ 100 each are issued at par and redeemable at 20% premium.
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(i) 150; 8% Debenture of ¥ 1,000 cach are issued at 10% discount and redeemable at 5%
premium.
AIATOR

a1 feafaes, e 9ot s ¥ T 4,00,000 1 B oA T AR GqEAvE® wiaygfa % w9 |
T 100 Wi SO i LW 5,000; 9% SHora Tnifir wedt © | Fet whi qEehl W weel warear
TS1 TS qA1 3T 36 gor-17 (oTfder foes) o 5 <wid™, afs s qeaen! # oran foman s
B [4]
Annu Limited took a loan of ¥ 4,00,000 from Punjab National Bank, and issued 5,000; 9%
debentures of ¥ 100 each as a collateral security. Record the entries in the books of

company and how will you show in Balance-Sheet, if it will be recorded in the books.
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TETITEH—aReT 12 ({ET 1)
1. TCTHRRT TEIrll o ol eraian

(Accounting for Not-for-Profit Organisation)

(ure-r)

— )
TATHRI GEeIeti (Not-for-Profit Organisation) ehT 3TH—TeNvHR TXART & 3TWE TH

deeml 9§ e v arifSie swearor o fere grar © qen fomen frtor emid deaml, fomem seea
o ¥ U 7 T, & w9 H R S ¥ ) 3R g siva T fafire v @ guw S
Hat TS ST Bl B |

FATHRTT HETHT o ATIAEN T TEIhT—STTHERR e SAYHR TH-37 Thg IR
Sk % g foRA oIa ¥ ofa: 3 T U T Uohs TE W § | 3TE, =, gigmtaa ok Sifaet
% AT ¥ T el TR ¢ | SH STl U Wieh T W € | 37 Seennsdt g g gt
WA AR el TR s sfesk gt M (Capital Fund) 6t TToFT %t St € |

atf-am @ra a1 fa=ig faavur (Final Accounts or Financial Statements)—3TaTHeRT Teistt
T off TAH I % o7 H STf<H foHeRvr I STewEe B ¥ | 3 Heensdt o Sifm @i # fe
e B

(1) wiftd w8 {7ad @ (Receipt and Payment A/c)

(2) ¥ AR =@ @A (Income and Expenditure A/c)

(3) ge™ 99 (Balance Sheet) |

(1) Wi T YA @
(Receipts and Payments Account)
forei foretn ot 3% o & TS FE1 F) TR | A9 6 SR faf S Y W = e

T % STYR W IE Wl ST S 7 | JI o St o & < fafee fafedl =) wfafea =
THHY L TS T & A h 79 fe@men o § 1 S8 o % < fafue fafesi @ 10 s feran
TR T @ G AR A AR FE W S A @ ok A 99 H @ SR | sTenseRRt
T 9 o TR T F AhS T8 B SToNash W IR I o YA ol HETgER faeersor it
T 139 WohR ! WeeTy 37 fovetoor el i Tered | Wit o e Wi gorsd § 99 o o ¢ |
7% Th SR @Al § 991 S8 AEdGia ST T8l
Wit o YA @ &t fegreand—

(1) ¥ Uohg Y& 1 TRV T | 98 T WA % SRR H o1 a1 ¢ Toreeh o vy § wiftaar
(Receipts) & g 98 H 7TaM (Payments) e S g

(2) % TH o9& @ (Real Account) St Wehfd ol T |

(3) Truifea sty o Sm B3 o Wifgel o aE oo wia € = 3 foedl off srafa 9
FrIf2d Bl | 37T R, hT HIS FHIEISH 81 BT §; ST 3T, SRl o4 q1 fonddt ot TohR okt
TR Aohg TR TR @ =t §, S ged 3 o |
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(4) WIfE=l o aE AR SAERTG 81 A1 Y wehfd % g, gt b fo@mEn S g |
(5) Jg I T FTEN | T SRR T8I R S § STt <+ HewR fowd 3 ¥ |
(6) THF YT H URIEWH Johs o sich I (3790 Sk Tfefaeptd ) qom o1=q § o1 Johg 9 S
I fe@m = ¥ |
It I QI @ &l TS
Receipts and Payments Account
for the year ending ...............
Receipts Amount Payments Amount
g g
To Balance b/d : By Balance b/d (Bank overdraft)* XXX
Cash in Hand XXX By Wages and Salaries XXX
Cash at Bank* XXX By Rent XXX
To Subscriptions XXX By Rates and Taxes XXX
To General Donations XXX By Insurance XXX
To Sale of newspaper/ XXX By Printing and Stationery XXX
periodicals/waste paper By Postage and courier XXX
To Sale of old sports materials XXX By Advertisement XXX
To Interest on fixed deposits XXX By Sundry expenses XXX
To Interest/Dividend on general XXX By Telephone charges XXX
investments By Entertainment expenses XXX
To Locker Rent XXX By Audit fees XXX
To Sale of scraps XXX By Honorarium XXX
To Proceeds from charity show XXX By Repair and Renewals XXX
To Miscellancous receipts XXX By Upkeep of ground XXX
To Grant-in-aid XXX By Conveyance XXX
To Legacies XXX By Newspapers and Periodicals XXX
To Specific Donations XXX By Purchases of Assets XXX
To Sale of Investments XXX By Purchase of Investments XXX
To Sale of Fixed Assets XXX By Balance ¢/d :
To Life membership fees XXX Cash in Hand XXX
To Entrance fees XXX Cash at Bank* XXX
To Receipts on account of XXX
specific purpose funds
To Interest on specific funds/ XXX
investments
To Balance b/d (Bank Overdraft)* XXX
XXX XX XXX XX
qE—* =g <1 H ¥ A8 T A & A 'Cash at Bank' a1 'Bank Overdraft', <1 =&t
ST |
(2) 3= 3R == @ran
(Income and Expenditure Account)
I Q& 7T T o A H YRS I U & T WA Rl SR -7 Rl TR
TUITn ¥ o Y Heen S enfuer feufa o ot gar TET @ 9 § | 3SR STens Rt Heerd e
o =1 forii= o o o1 H o iR =HF Wil $aR I ¢ |
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I W T @ H gelt YRR R Wil o e (Yot | S1rEd Sl ) fewr e € qen
THH GRS TR R S ¥ | 59 T Rl QU R R ToTU YeeR SRR e ST SR = W
TR A T | A @ - W F T B B | 3HE 9 s 9 i sTa-saa aun s
3fE o1 FEMEISH fFa STl ¥ 1 39 @R R Wit o T @) R e 9 SEE S
I~ W ot fagrsang -

(1) SHH el SATERTA Wepfa i #e fa@ms it € |

(2) o Sfoe v A @9 o i@ qon shfee v & o o @y foom s[ ¥ |

(3) z9H haw W Ffyea stafy w1 o 9 =32 1 o e S § o) S 9w g2 @ A e
Sreran T feen = =1 fopanm 2

(4) I% IUSH STAYRVN TR ST ST 2 |

(5) T9H SIE YRFEe 99 T2 B 7 q0 $9 @R R SR R Afe sfrery=gEar guiar § 59
fag & <o we & STt e A Sirer @ S S R |

A 3N G WA 6T G
Proforma of Income and Expenditure Account
Dr. for the vear ending ................... Cr.
Expenditure Amount Income Amount
% %
To All Revenue Expenses Paid | ........ By All Revenue Income received| ..........
Add : All revenue expenses Add : All Revenue Income
pavable (relating to Receivable (relating
current year) | ... to current year) | ...
Less : Revenue expenses paidin | Less : Income received in
advance (for the future) | ......... advance (for the future) | ..........
Less : Revenue expenses Less : Income received for
paid for the past | ... the past | ...
To Excess of Income over By Excess of Expenditure
Expenditure (Profit) or over Income (Loss) or
Surplus | . Deficit | .

QIftd Ua I ST 92T 3T 3 & @d | ST & YT @Il a9 379 1
T H o7 =R I8 WA ¥ S foF St wepfa den Q1 faeron o wHror g € | wiftd we e @i
H ST Yot SR ST Wit we e S TR Rt oft ot stefy @ wrefg 8, forw W € st
M SR =79 @A H ool A TR S o =e] oien 96 W St gl €, bl Wil o S |
M 3R =74 T | TR-{ehg 7= S Tt g o g SiR sk o SR = ot <9ty s
AfRA it SR e @1 & Rt wnfaer =8 fopan S | Wit We ST @i Tk SRS 9
Tl § WEiE 81 3R =g Wil I8 7l Wl | Wi Wd e @ o eifm 9w, At fafa o
Uehg AR Sk T <9Tar & Safh o7 R =g @i Gear w1 nfafafeat @ snfesa an = 6 yefeia
T
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(3) ged uA/faeen
(Balance Sheet)

TR FEenstl i off oTu facitar feafa w1 fruitor v & forg samwifies Wt T go o
TR T T 7 | A8 o & o W uiemiaal SR i i <9t | STenyeR Seenst § gor o
T 3 T 9 W1 G T, o] o6 o Wi T I S 9 S Yo Suersd @l § | 3R
SR R o 13 o7 & Tram feferfaa §—
uREmtar 98t (Assets Side) —

(1) Wi T& ram T 9 A=< IR AW T Sk 9 T H SH gor o § aiemta ue
R fe@r =fed |

(2) o= wrafal 3 foe god vt 71a o % gor 79 & wrafae st e gt 98 J1d wE
=feu fo s =rey o # i G weafa 9 e ¥ stuen s 98 et eliel T ¥ I H A=
T geafa o1 foerer  wiftd T oo @’ % Sfae uy @ 9 e s ) e sem @t fefa
Td a9 % o 79 | f@ TE vt S 9§ 9 9w T e o IR qod Sel =Et | Ak =
= H g T Tl T R A T o % g o H weikia St % god # @l T gt 6
Ted Sirg o =few | =re] o H Wikt 8 wwafa o foern fwifd we opam @’ % hfee uw @
ST ST IS 9 G ToRam ST HeRe B | 57 W THEISHI oh1 AT TR T i I8 A G
T3 % 99 g R feam =ifeq | =t & foera 9 anv-wif (fosra 709 - 7w 779) &l o
3R =g @ H <A =y

(3) afs Ta 99 o oI 9T H IRl S Aq-gF, =, o onfe 6 gy d 3w
HrEISH fe@m gu ¥ @ I I e wifee foR oo e # ey o9 H So o Wi & S § | ween
i Yok €T 9 T Tl AT ST Gkl | AfE =1e] o H 77 o6 Y SR A 99 &l g U ®
s1eran it Ui o &1 wE © @ S uftn sy 717 32 7, 59 =) 99 % gor 99 o uieeta
81 W fe@mn S|

(4) =0 od @ FwItgd SREn A1 SuSd 3 F (Accrued Income) Rt Uf¥r ot stfafcs
ol | Jd A Afey a9 I uRewta 98 W e =feu )

(5) Wﬁﬂﬁaﬁﬁ (Prepaid Expenses) & 3= 39 &t +ft s1fafis gemeti & 91a e =ifeu
q1 goF 93 & uReeata 98 R feamn =ifse
T 9&T (Liabilities Side) —

(1) STENHhRT HEST A1 STYF MY KA 81 BT € | 3T : TN TEASA FI TG TTHI
Frretor it & e 72 g ® 1 oifeR 3 geed oR-R ST ST At oo § $9 el ety
A § SR TH WBR 9 STHT it o1 fmior e ot € T e 1 st % (Capital Fund) %ed
T e A yrfees 4o R 7 9 W s e g g 9 feen S 3

WRFETeR STt hIT = o9 o YRE i Fol GEral — a9 % TRE | ol e

Af=m goft e = yRFEsTE ISt i + stfee - =

(2) =g Ta o6 % gor /Mg | ok e ¥ St e § Qa8 S hl ey
T T (I 1 T ToRam ST gorT § | Aok STET o Shiee U&7 § THeR U1 OFIET T Thal ¢ | 39S
FE i (SA-9% @ o Ui o w1 Stf=<m 9%) 99 ® T ¥ 9@ @ i B oo a6
% g T/fag o wifae ve o e e s 2

(3) T =9 % o T F IS U W FD UH TR A E TN B S G W A (St @y
o H Gt o ST s W W € S ¥) W et gl SQ T o6 % qer T § Qe ue




